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We persons—A,B,C,D, E, F, G, Hand | worked
in a company. They hold different positions —
Clerk (CL), AM (Assistant Manager), MG
(Manager), DGM (Deputy General Manager), GM
(General Manager), CGM (Chief General
Manager), Head of Department (HOD), ED
(Executive Director) and CEO (Chief Executive
Officer). The positions given are in increasing
order of seniority. CL is the juniormost and so on
till the CEO is the senior-most. | is senior than the
one who is HOD. Two ranks are there between |
and F. Three ranks are there between F and G
who is not the senior most employee. Number of
persons are senior than G is same as number of
persons junior than H. D is just junior than H. C is
just senior than E. More than two persons are
junior than E. B is not the least junior.

SBI CLERK 2022 / /@ at 11:30 AM/ 0

sAtsaf@a- A, B, C, D, E, F, G, H 3 | t&h sl
# HTH FA 81 I AT wet w E - Foh
(HoeT), TUH (USRS YaHS), THT (Ta4F),
SISUH (39 AGIYEYF), S IUH (HETIEYFH),
Hrsfier (T AgTvaes), femr yqg
(T3, 3 ( FEER PAgeeE) 3T dEs
(AT FRFR! JAFRN) | 5T 1T gg afirsadr
%aﬁwﬁ%wﬁwmm%aﬁtsﬁr
oRE o9 a N ged aiss ¥ 1 3w afFa
FaRNS ESTHOD B I IR FF AT IFEIF
IRcHFATdTiwF§ A gadaiss
HAGNI T8l &1 G W I~ sqTFaal HY F&ATH
q Ffass cafeaal frgear F gAT 81 D, H
AFaT FfAsgIC EXNFaNss T Eq T
@'m_ﬂ'ﬁﬂ'm%l B HEW BleT AT ¢

-;""

_,4


http://www.mahendras.org/

SBI CLERK 2022 / /mEmat 11:30 AM/ 0

Nine persons-A, B, C, D, E, F, G, H and | worked
in a company. They hold different positions —
Clerk (CL), AM (Assistant Manager), MG
(Manager), DGM (Deputy General Manager), GM
(General Manager), CGM (Chief General
Manager), Head of Department (HOD), ED
(Executive Director) and CEO (Chief Executive
Officer). The positions given are in increasing
order of seniority. CL is the juniormost and so on
till the CEO is the senior-most. | is senior than the
one who is HOD. Two ranks are there between |
and F. Three ranks are there between F and G
who is not the senior most employee. Number of
persons are senior than G is same as number of
persons junior than H. D is just junior than H. Cis
just senior than E. More than two persons are
junior than E. B is not the least junior.
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How many persons are senior to C?

C ¥ fraa =afea aftss &2

A. One B. Three C. None D. Four E. Two

-“ Who amongst the following is the DGM?
KR cffea & @ st7 deia 2

- A.F B.E CC D.A EB

How many ranks are there between the rank of D and C?
MG | B S A N Y

A. Three B. Five C. Four D. One E.
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.Which of the following is the designation of | in the comp:m.'
FYY H | FT YGATH AFT A & &9 41 872
A.ED B. CEO C. HOD D e(c]\ E. None of these

sk [ oo

— Four of the following five are alike in a certain way and thus
— forms a group. Find the one that does not belong to the group?
BN -t o & @ 9] o @RTd 0% @ aa e §

ESEEEN| ;i< 55 vor vF a6 9o §1 95 @ St §Hg @
B < e e

BCHEGH| A G-~V B.E-DGM C.C-GM D.H-HOD E. F-CGM
oo | E

Mo | B
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98. Statements: 99.Statements:
H>F=2D;C<X>E=2R;D>B = W<E>R=ST=ZY;S=ZA=Q<W;
V =C F>D=5

Conclusion: Conclusion:

[.X>B I.D>Q

II. F=V II. D=Q

A. Only I follows

A. Only I follows
B. Only II follows
C. Either I or II follows
D. Both I and II follow

E. Neither I nor II follows

B. Only II follows

C. Either I or II follows
D. Both I and II follow

E. Neither I nor II follows
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100.Statements:
T>Y>U>I=2K;V<B<N<M;K
<JsH=G=2YV

Conclusion:

I.I>H

II. G<N

A. Only I follows

B. Only II follows

C. Either I or II follows
D. Both I and II follow

E. Neither I nor II follows
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Eight persons A to H were born on eight different months of the same year i.e. February,
March, April, May, June, July, November and December. A was born on the month having 30
days but not on November. There is only one person born between A and the one who was
born on June. E was the youngest person. Three persons were born between the one who
was born on March and G. D was born immediately before G. C and F were born on
consecutive months but F is not the elder one. B was not born in May.

IS AfFT AT HUF & a¥ & TS -39 AT AT BLad), AN, 3V, A,
I, S, daa? AR R # da1 g€ &1 AT oo 30 e arer #E # gaw AT
et AdaX Y 7811 AR S F Sew Ao A & NT Fad F AFT H AeA
g3 ¢ EHaH BT <IfFd ATl AT &) SIoH7 o are 3 6 & g e =afFa der
2T & D, G ¥ &% gga Uer 73T ATl 3R F AR 7T A & afheT FaaT
7€t §1 B S 7§ H g gaw oy

(¢

“
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Eight persons A to H were born on eight
different months of the same year i.e.
February, March, April, May, June, July,
November and December. A was born on
the month having 30 days but not on
November. There is only one person born
between A and the one who was born on
June. E was the youngest person. Three
persons were born between the one who
was born on March and G. D was born
immediately before G. C and F were born
on consecutive months but F is not the
elder one. B was not born in May.
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5.Who among the following person was born on April?

ﬁmﬁﬁa#@hwﬁﬁmmﬁaaﬁgmm?

a)G b)D c¢)H d)C e)A

6.How many persons were born between H and C?

H3R c& & fhad saiFa d9e1 gu 47

a)l b)2 <¢)3 d)4 e)Noneof these

7.Who among the following was born on July?

ﬁmﬁﬁaﬁ#%mwﬁaﬁgmm?

a)E b)D <¢)C d)G e)Noneof these
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8.Four of the following five are alike in a certain way and hence they form a
group. Which one of the following does not be‘long to that group? GGG
g # ¥ IR v AfRad alis & gaa € 3k sufev 9 v a#51g

T ¥ fafafla & ¥ #la @1 37 woE & wafta ad ¥

a) The one who was born on March
b) The one who was born on May -
c) The one who was born on February
d) The one who was born on July

e) The one who was born on December

X @ BT W FUT EF A F T §?

a) E was born on December

b) E was born immediately after B

c) Only one person was born between E and G
d) None is true

e) All are true
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Certain number of people is sitting in a row facing north. A sits third from the

right end of the row. Three persons sit between A and S. N sits exactly in the
middle of W and P, who sits to the immediate left of S. L sits to the sixth right of W
and L is an immediate neighbor of S. C sits third to the left of W. V is an immediate
neighbor of A and U. The number of persons to the left of C is same as the number
of persons to the right of V. More than one person sits between L and V.

&A1 A qfFd 3o &1 3T AT F& T qfFd F 5 §1 AgfFa
aﬂt#?ﬁﬂ?wﬁw%‘b’r%maﬁts%aﬁa?ﬁﬂ—aﬁ-‘d%%lw
PHR AF AT A AT g, SN S I ¥ daT 81 L, WH S T
IR LS ﬁmﬂqﬁm"r%lwa;am V, A 3R U ST Adead
gl CH an? —a%cra’fa?r@iwva:aéamwﬁ?m’ra?rﬁw
g 1 L3R v T e @ e afea 8§

%

%ﬁ%’%

0

C) 6
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Certain number of people is sitting in a
row facing north. A sits third from the
right end of the row. Three persons sit
between A and S. N sits exactly in the
middle of W and P, who sits to the
immediate left of S. L sits to the sixth
right of W and L is an immediate
neighbor of S. C sits third to the left of
W. V is an immediate neighbor of A
and U. The number of persons to the
left of C is same as the number of
persons to the right of V. More than
one person sits between L and V.
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10.Who among the following persons sits at the 12.Who among the following sits second to the
extreme end of the row? Arafaf@a 7 O i rightof P? @ T A @ ST PF T @
gyfFad & 3fad oR 9T do1 §72 R;H'T‘v'ﬂﬁwﬂ'cﬂ%?

a) L
a)C b)U «¢)W d)L e) None of these I:))I\\IIV

d)S

e) None of these

11.Four of the following five are alike in a certain way and hence they form a group. Which one of the

following does not belong to that group? fAFafaf@da 9 # ¥ 9) U Aftad alie @ gd@+ %
IR sufoT 3 v WHE S 3l FFfaf@a 7 @ Fi 91 37 gg @ F9OT F8 87
a) A-U
b)L-S
c)W-N
d)P-L
e)N-P
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13.Who among the following sits to the right of

V?

faf@a & @ l9 va g dor 872
a) U

b) N

c) W

d) L

e) None of these

14.In which of the following pairs, the first person sits to the right of second person?
frafaf@a & @ fFw NS & vgar afFd gt =afFd & g dor 87
a)S-P

b)L-A

c)N-V

d)S-A

e) None of these
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ASD#!'63KL@GBM"453"M"7&*&NS8SLKIMTNG6% &NSG6

15.Which of the following element lies exactly in the middle of the series?
frafafea & @ i a1 dca H@ar & SiF 7T 7 Bya 82

a) 3

b) A

c)7

d) None of these

e) &


http://www.mahendras.org/

SBI CLERK 2022 / /@ at 11:30 AM/ n

ASD#163 KL@GB"453""7& *&NS8LKIMTNG6% &N

16.How many letters are there which is followed by a number and preceded by a
symbol?

¥ fFaa e § s 91 v F@E&Ar 3R ugd UF Ul 3ATaT 87

a)o

b) 1

c) 2

d)3

e) None of these
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ASD#!'63 KL@GB""453"N"7&**&NS8LKITNG6%&NSG6

17.1f all the symbols are dropped, which element is 12th from the right
end?

gfe asiht =gl & ge1 AT e, aY i ¥1 dcg g& B F 129
TYHT T §?

a)3

b) 4

c)5

d) None of these

e)B
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ASD#!'63KL@GBM"453"M"7&*&NS8SLKIMTNG6% &NSG6

18. Which element present exactly in the middle of ,,S" and ,,*" in the series?

HGAT & S“ IR F &F ALY & T A1 dea Alsg 872
a) G

b) A

c)B

d)L

e) None of these



http://www.mahendras.org/

— 2022//0111:30AM/0

e

Eight persons |, J, K, L, M, N, O, P are seated around a square table. The persons sitting at
the corners of the square faces away from the centre while the persons sitting at the
centre of the sides faces towards the centre. O sits third to the right of P. Only two
persons sit between O and L. | sits second to the left of J, who is not an immediate
neighbor of L. N is not an immediate neighbor of P, who sits on the immediate right of M,
who sits at one of the corners of the square.

e )

Fg 1 AR Tl 0,PF T { Y TR T Ja ‘
e i I,J?W#’?TFWWQN%,HTLWQW‘WH@%I
N, P &T dead w21t 78T &, g

et v Fr 9T doT ¥

%Wﬂw%ﬁm%mﬁﬁgﬁﬁ
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Eight persons |, J, K, L, M, N, O, P are seated
around a square table. The persons sitting at
the corners of the square faces away from the
centre while the persons sitting at the centre
of the sides faces towards the centre. O sits
third to the right of P. Only two persons sit
between O and L. | sits second to the left of J,
who is not an immediate neighbor of L. N is
not an immediate neighbor of P, who sits on
the immediate right of M, who sits at one of
the corners of the square.
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19.Who sits at’the immediate left of M?
M e aF Sl doT 82
a)P b)l ¢)O d)J e€)N

20.What is the position of K with respect to J?
1% Hogd H KT T F4T 872

a) Immediate right

b) Second to the left

c) Third to the right

d) Second to the right

e) Third to the left

21.How many persons are seated between
O and K, when counted from the left of K?
K I ¥ @i ), 03 K& #7Lg
foraa saffa & &7

a) None

b) 1

c)2

d)3

e) More than three
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22.Four of the following five are alike in a certain way and hence forms a group.
Which of the following does not belong to the group? Afef@a u=a 7 ¥ 9R
v fRad ald & @aeT § 3R safav s w9 a9 ¢ Aefaf@a d @
FlT THE ¥ Fafda g &7

a) o b)I c)J dL e)P

23.If all the persons are made to sit in alphabetical order starting from | in clockwise direction,

the position of how many persons will remain the same excluding I? gfe gt =afFaal #1 1a
[ F{& SA0Tae foem & quislar & do/™T o §, @ 19! Sga faa safFaar i

f%%ﬂ%r AT Ra?

a) 1

b) 2

c)3

d) More than three

e) None of these
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